PHONE 214-477-1344 FAX 972-317-6888S

/E,Cm% WWW.EICGROUPUSA.COM

~

Jawnload on the ANDROID APP ON

]
ADD Store pr L,;K'JUH'{: play

HAND GUN & AUTOMATIC GUN

Page 1 of 4



6.1 Manual Powder Gun Series MGX-900

Pos: Code: Part Description:
1 4.000 001.01 Venturi nozzle
2 4.100 120.01 O-Ring 14x1
3 4.100 121.01 HV-Unit
4 4.100 120.02 O-Ring 16x1
5 4.100 123.01 Air hose 4 x 6
6 4.100 122.01 Powder Tube Manual
7 4.000 007.01 Front handle
8 4.000 005.01 Back handle
9 4.100 124.01 End Hook Manual yellow
10 4.100 125.01 Fixing bolt M10
11 4.100 126.01 Powder transport hose joint
12 4.100 185.01 Air hose joint «manual»
13 4.100 128.01 PG7 cable fixing
14 4.100 129.01 Distributor plug
16 4.100 130.01 Trigger
17 4.100 131.01 Switch
18 4.100 132.01 Fixing screw M4

Page 2 of 4



6.2 Automatic Powder Gun Series AGX-900

Pos: Code: Part Description:

21 4.000 001.01 Venturi nozzle

22 4.100 120.01 O-Ring 14x1

23 4.100 120.02 O-Ring 16x1

24 4.100 133.01 Powder Tube auto D=11 short
4.100 133.02 Powder Tube auto D=11 long - 350

25 4.100 123.02 Air hose 4 x 6

26 4.100 125.02 Fixing bolt M10

27 4.100 143.01 Fixing bolt M10 Automatic

28 4.000 010.01 Right automatic distributor's body

29 4.000 011.01 Left automatic distributor's body

30 4,101 128.01 PG7 cable fixing

31 4.100 187.01 Air hose joint «automatic»

32 4.100 126.01 Powder transport hose joint

33 4.100 121.01 HV-Unit

34 4.100 137.01 Distributor plug
4.100 138.01 Automatic cable 8 m

Page 3 of 4




6.3 Muzzles Assemblies

Pos: Code: Part Description:

41 4.100 134.01 Electrode holder 100 mm «aut»
4.100 134.02 Electrode holder 200 mm «manual»
4.100 134.03 Electrode holder 300 mm

42 4.100 135.01 Muzzle 100 mm «automatic»
4.100 135.02 Muzzle 200 mm «manual»
4.100 135.03 Muzzle 300 mm

43 4.000 019.01 Front fixing sleeve

44 4.002 001.01 Flat jet nozzle

45 4,100 136.01 Defector @ 16 mm

46 4.100 136.02 Defector @ 24 mm

47 4.100 136.03 Defector @ 32 mm

48 4.100 166.01 Short fixing

49 4.100 167.01 Fixing sleeve for long holder

50 4.100 139.01 Venturi Nozzle key

51 4.100 140.01 Cleaning Brush

52 4.100 170.01 Long holder 1 =350. D =11

53 4.100 169.01 Fixing

54 4.100 168.01 Adapter M16/1 D=11

55 4.100 186.01 PG7 cable fixing with cable + plug

56 4.100 126.01 Powder transport hose joint

57 4.100 187.01 Air hose joint «automatic»

51

Page 4 of 4




